(G SE=n)}
ol Matets X (sEasat/i a4t - 0 E)
0l MpEE TR 2 Ee)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
st 8,162,278 7,154,372 007,906
= 1,464,820
[ 214,000
= 6,483,458
ol Marets X3 (sl o/ emb - HE) 8,005,142 7,092,576 1,002,566
= 1,464,820
= 214,000
= 6,416,322
oYy darss X 3,491,462 3,032,557 458,906
= 420,000
== 3,071,462
ZEZ UK 22EH ESA(=2I128)(=1) 840,000 950,802 £110,802
= 420,000
< 420,000
403 MR HHMSAHE01H 840,000 950,802 110,802
= 420,000
= 420,000
01 MHAIHH 22X 840,000 950,802 A110,802
OLNgsE ==:J1& - ¥l - 4] X2 840,000
= 420,000
= 420,000
ool Qlaory X2 1,353,480 1,080,800 272,680
202 04l 2,000 2,400 2400
01 2LHoIH 2,000 2,400 2400
OO0l QIMOIHALY =& 2,000
308 AXIHSO0IA 1,351,480 1,078,400 273,080
01 HAHHBSEEXS 1,351,480 1,078,400 273,080
oNgE HAR €=XN& 1,275,000
OZ0X= OIXEH 43,400
O &4t BEX X SEXN 25 X2 33,080
Haddl slia & gt X 1,297,982 1,000,955 297,027
202 04l 1,500 1,800 A300
01 =LHA LI 1,500 1,800 A300
ONdHHl st & HAINHSY 2435t =8 1,500
403 AXIEHMSA=01d 1,296,482 999, 155 297,327
01 AXIHHA=2 2L 1,296,482 999,155 297,327
O0Z - otd goi &l XIa 233,510
o=20dsE 8= N2 97,020
OdZoll MHHEIIHA 4l XA 21,000
O+ 2 22& AlE X2 105,000
o= &2 td K& 217,300
OF0 s W (W2AD]) XA 13,860
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SN RTINS
HE: 0”0l MABS KR (SYHSSL/HYRL - 0fF)
Rl oY dargs XA (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
odZoiold ==J12t Al X 252,720
ouZoll HHEIIHA =2l K& 21,000
odZalog 01 X 60,000
o2 MHII0d BUHS X 12,992
OUEAHEAN UE=EH JI2UH X 15,390
OSAH [BHA JI2UH XA 80,000
ORXOH di=d2t)| K& 19,440
oudg HAEF-E2E HHES 60,000
OHAg L 2a2e| ORE+E2E W2+ 30,000
ogaogel Ful2e X2 26,250
o¥gIl £ N&A 21,000
OO s=cla S NHAISE 10,000
Mool & HBEAM & 780,800 659,800 121,000
= 35,000
= 745,800
HEALD OIZAIAE 2= (21) 70,000 61,000 9,000
= 35,000
s 35,000
403 MR SHHMSAH=01H 70,000 61,000 9,000
= 35,000
< 35,000
01 A= 2L 70,000 61,000 9,000
ONEAI D HTAIAE 25 70,000
= 35,000
= 35,000
HgEX=d =2d2 500,200 500,200 0
201 2= 183,200 217,700 A34,500
01 At22t2lt] 5,000 5,000 0
ONYXN=H 2E ArR2e2lH| 5,000
02 S5=4g4l 178,200 212,700 A\34,500
ONgXN = =2FHl, SHAHl S 178,200
202 04dl 70,500 103,500 /33,000
01 =LHOHI 70,500 103,500 A33,000
ONgXNTHd E5 & SYHY U5 S 70,500
401 Al HIZ S 0HHI 245,000 179,000 66,000
01 AlZ8| 245,000 179,000 66,000
oYX =H X - J12 EJl==2l 245,000
405 AHaHE S 1,500 1,500
01 IR =S F=H 1,500 1,500
OLUYARA HEII S 2L 1,500
o AHOE ol 22| X3 12,600 12,600 0
308 AXIHSO0IA 12,600 12,600
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SN RTINS
M 0{U0l MASE KR (SUMSL/HLRL - 0fF)
&2l THoHolY & OHEN EF EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BELES 12,600 12,600 0
Oodil e A0id oleltHl K& 12,600
AENA Q)| AX(HEAY) 198,000 86,000 112,000
403 MR HHMSAHE01H 198,000 86,000 112,000
01 MXIHHA 22 198,000 86,000 112,000
OAxEold el EXI(HE) 198,000
Hgel =X X2 2,398,680 2,164,431 234,249
= 409,800
= 1,988,880
oo gel F=2A & RIS X 56,850 30,000 26,850
308 XXM SOIA 56,850 30,000 26,850
01 AXEN B2 LS 56,850 30,000 26,850
Oofitoi el IS M = & ALE 2l 30,000
Ot el RItE X& 26,850
Hgogel SAXE & dHsd AE 144,780 139,771 5,009
301 EtE N = 98,000 97,000 1,000
02 A EEHS(FANE, XLETHE) 98,000 97,000 1,000
O0g0gel SXHt*X XA 98,000
307 212+01& 5,500 4,500 1,000
02 LB HAHE L 5,500 4,500 1,000
O0&0gel HEXES & A3E S 5,500
308 XXM SOl 41,280 38,271 3,009
01 XN BELES 41,280 38,271 3,009
ondoige HH==s s N2 18,000
ondoige =24s HegEs N2 14,280
o080yl tHi 243t X 9,000
HAE Rl EtH2AT(=1) 12,152 0 12,152
= 9,800
= 2,352
308 XXM SOIA 12,182 0 12,182
= 9,800
== 2,352
01 HREHH B EES 12,152 0 12,152
ONdgogel SaHzHa N 12,152
= 9,800
< 2,352
0ol S A 83,350 36,000 47,350
307 21201 & 67,200 30,000 37,200
012z € 2=H] 67,200 30,000 37,200
O&F==0igel M=H| X 67,200
308 XXM SOIA 16,150 6,000 10,150
01 XN BELES 16,150 6,000 10,150

- 912 -




SN RTINS
M 0/l MASS TR (SRS /LS
e olgel =X XA EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
IECEEEEEERE 16, 150
Mol 24t 28 X 646,422 507,900 138,522
308 AHXIEMSOIE 646,422 507,900 138,522
01 HAHHBAEES 646,422 507,900 138,522
o0l Moll24 282 XA 216,035
O0d& Moll2a 288 A& 430,387
258 =X NE L&t 138,000 119,800 18,200
202 04| 4,000 4,800 A800
01 SLHoIH 4,000 4,800 2800
OX&E =X XN =28 4,000
307 elzto| & 25,000 15,000 10,000
02 2B YAIHE X 25,000 15,000 10,000
O=4td g g0l HAstsl Xd 25,000
308 AXIHSOIA 109,000 100,000 9,000
01 HASHHBSEXS 109,000 100,000 9,000
OgI=el (e NEotE X3 109,000
ogel =SXXE 2 20,000 60,000 /40,000
403 AXIEHHSAH=201H 20,000 60,000 240,000
01 AXIEHM A =2 £ 20,000 60,000 240,000
O2I=2l oE22 A SN2 HE> X2 20,000
ogel =g X 777,126 750,960 26,166
301 EtE N = 777,126 750,960 26,166
02 A EE AT S (FHAANE, XLTHE) 777,126 750,960 26,166
oogel =g A& 777,126
=0l o2 2 A =Xz HE(=1) 520,000 520,000 0
= 400,000
= 120,000
403 AXIEHMSAH=201H 520,000 520,000 0
= 400,000
= 120,000
01 AR A =2 £ 520,000 520,000 0
0230 M2 2 =X HE 520,000
= 400,000
s 120,000
Dz 25 & N 2 1,424,200 1,235,788 188,412
= 600,020
= 214,000
=S 610,180
SMEH 2E(=1) 40,000 30,000 10,000
= 20,000
< 20,000
307 el2to| & 40,000 30,000 10,000
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SN RTINS
B o0l MABE KB (SHMSSL /ML - O
el =Dl 28 ¥ MY 2 (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 12,900
301 EetE N = 25,800 25,800 0
= 12,900
= 12,900
11 AALAHIXIES 25,800 25,800 0
ONEXEXA 235 AHIXIE 25,800
= 12,900
= 12,900
o HEH(HYLusEH & JI=XY) (=21 6,000 6,000 0
= 3,000
< 3,000
307 el2to| & 6,000 6,000 0
= 3,000
& 3,000
02 QA HAEE X 6,000 6,000 0
OFHNIt HEE 6,000
= 3,000
= 3,000
el SgAH X&(=1) 203,000 104,400 98,600
= 175,000
= 28,000
308 XXM SOIA 203,000 104,400 98,600
= 175,000
< 28,000
01 MRHH B EES 203,000 104,400 98,600
OXtE2clie SEAY 162,400
= 140,000
= 22,400
olnE&cNgsY 24 SSH A 40,600
= 35,000
= 5,600
=M 3= 36,900 36,900 0
308 AHXIEMSOIH 36,900 36,900
01 HRESHHBAEES 36,900 36,900
OUEN i &= 36,900
st Yae(=21) 40,000 40,000 0
= 20,000
= 20,000
201 et 3| 1,000 1,000 0
= 500
= 500
01 At22telt] 1,000 1,000 0
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SM: HYRNED
A 00l MASE NA(SEHYTA/HYSA - O1F)
el =Dl 28 ¥ MY 2 (Gt &2l
K- B B2A(SIH) - MIRAY - BAS A 2
OxtSERY R 1,000
= 500
= 500
307 BIZHOI 39,000 39,000
= 19,500
T 19,500
05 2I2tRE = 39,000 39,000
OXtEER YRR 39,000
= 19,500
= 19,500
MEJAWAIG (22) 20,000 20,000
= 20,000
307 212t01& 20,000 20,000
= 20,000
05 EIR”IAE S 20,000 20,000
OJIMETHAIY 20,000
= 20,000
ISZeloie SansH|(2D) () 10,920 6,000
= 10,920
201 23| 10,920 6,000
= 10,920
01 ArR2eltl 10,920 6,000
OXtBREI0Y St 1S U E2E 7Y 10,920
= 10,920
H ool OIS X (=2) 336,540 261,648
= 298,200
< 38,340
308 KHXI HHI SO & 336,540 261,648
= 298,200
= 38,340
01 XN BAELS 336,540 261,648
OF ool I 336,540
= 298,200
= 38,340
ARl HERX XI& 200,000 200,000
308 KXISHMSOIH 200,000 200,000
13 SJ 2SOt A EAS ALZ | 200,000 200,000
OZAIR! OIERA XI& 200,000
ARl JlEnS 142,040 142,040
308 KX EHXI SO ® 142,040 142,040
13 SI1 2SO E & X2 &AL 142,040 142,040
OO E4dst K& 142,040
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60,000

200,000
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200,000

m W

200,000
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140,000
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37,916
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5,280
5,280
5,280

- HyS

- SRA(3) - HIRAY

S - B

[SHI

Kk
<J

F

405 Xt

o

=
=)

dl

uJ
K

+

308 &t

Y
]

80
0B
x

il

01 AF22t2ltl

30
OH
Mo
[0

30
i
[0
[0

80
0K
X

202 04|

01 S0

=LA

30
0H

-

AN

Kl
Kr
ok
oD

440,000+ 123

Jl=23sl

- 917 -



